There are five questions at the bottom of the page that need answered with a detailed explanation of how you came to the answer so the professor can see how you got your answer.

Here are some comments relating to the case assignment that may prove useful.

We already know unit-based variable overhead, so there is no need to allocate this amount. It is the batch-level variable costs or the fixed portion that need to be allocated. 

We will never know exactly how much resources the Kite Surf Kit uses versus the Professional Board. However, we want to come up with the best estimate possible as a managerial tool to be used in the decision making process (pricing, dropping a product line, adding a product line, cutting costs, increase sales, etc.)

There are different approaches to estimation, and that is what this is all about. Some methods are quicker than for less costly. Other methods are more complex therefore more costly. The complex methods are worthwhile as long as the benefits exceed the cost of obtaining the information and the information is of practical use.

Please disregard these two sentences from Module 04. They will do nothing but confuse you. 

"Current cost accounting system allocates fixed production department overhead based on labor hours and machines hours. The amount of fixed overhead related to labor hours and machine hours are $36,300 and $31,500, respectively. "

I'll give you some hints for labor hours. Total fixed costs add up to $82,800, so we know that the two products jointly consume this much in fixed costs. The question is what is the relative proportion for the two products? If we use DLH (direct labor hours) as a cost driver, we are saying let's spread the $82,800 over the DLH used for the production process. In this case we have $82,800/((6*1200)+(9*800)) = $5.75/DLH.

Now, if the Kite Surf Kit uses 6 DLH, we're estimating the fixed overhead associated with producing this product to be 6*$5.75 = $34.50. You can now compute both contribution margin and net income for one unit of this product.

The idea is really simple once you understand the concept.
Activity Based Costing

The KiteSurfRUs Manufacturing Company produces two products. One is a kite surf board designed for ocean surfing. The other product is a professional surf-board (short board) used in world class surfing competition. Most of the sales come from the kite surf product, but recently sales of professional board have been increasing. The following information relates to the products for the most recent fiscal year:  
                                                        Kite Surf Kit       Professional Board
Sales and production (units)               1200                                   800
Sales price                                                $980                                 $650
Labor hour required per unit                        6                                       9
Machine hour required per unit                    5                                      7
Unit costs:
 Direct materials                                       $209                               $255
 Direct labor                                                 $85                                 $85
 Variable overhead                                     $70                                 $90
Concerning the current systems effectiveness in valuing costs of two products, KiteSurfRUs hires a consultant to create an activity-based costing system. The consultant developed the following data: 
Cost pool            Cost driver              Total amount           Kite Surf           Professional Board
Equipment           Machine hours              $  45,000                    1,100             300
Material order      Number of orders            16,500                       475             150
Machine setups   Number of setups             15,300                       216               70
Quality control     Number of inspection        6,000                         25                 5 
Required:
1. Calculate the manufacturing overhead rate based on labor hours and machine hours 

2. Determine the cost to manufacturing one unit of each model using two different traditional approaches; direct labor hours and machine hours. 

3. Determine the cost to manufacturing one unit of each model using the activity-based costing data presented above. 

4. Is the kite surf kit as profitable as the company may think it is based on its present system? 

5. What should KiteSurfRUs Company do to improve its profitability? 

